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Part - III

oiflefwed / SCIENCE

(50D wHHID <pEifled Ll / Tamil & English Version)

ST aTa : 22 Wewfl CHIW ] [ Quorss wHLIQUETEET : 75
Time Allowed : 22 Hours | [ Maximum Marks : 75

SPleyemrset : (1) Simandg NaTESEEHD FMurg oide ueurd 2 GTaTST 6TeTLISEn 6
' gilumisgé Careareralbn. Faliudele Gampuimplbe simns
sarsrailiurerflb o Languirs GgfeléseayLb.
2) Beob oegH SHBUY @wulamea WLHCWL TgeuSHELD
Sl &ECHMg HeUgDGL Lwem (55 Couam®b: UL BISGET euamyeusSnHE
Quenéled LweTL(HSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : @euailemmgsmer epsmy) Gifleysamers Camemmg.

Note : This question paper contains three sections.
91fey - I/ SECTION - I
(FHLCLeTEHET : 15) / (Marks : 15)

Goiuy : () @u9fele o drer 15 elamésEnéEn efen welldseaib. 15x1=15
i) @eoLlys ghluladr sT®ssLILL Hetar wrHm el sefld
Blsed sflwuresr efenLewwd CHTHESHSS eT(sayibd.

Note : ()  Answer all the 15 questions.
(ii) Choose the correct answer from the alternatives given in the brackets.

[ §muys / Turn over

QB365 - Question Bank Software




QB365 - Question Bank Software

1630

1. &uerereupmer LmpbuAwg samen AT gl ool ?
(wrugyl wrHPHL QeuwiulL bsel,
HSTedle WyLgn rHPD AelutiulL gaser,
Gameéd Qadealiey L@ LTHHLD Qewiwdiul’Leel,
LTelg s QEaedld WLFLEN WLIHOHLD Qewtiul_Lenal.)
Which of the following is inheritable ?
(an altered gene in sperm,
an altered gene in liver cells,

an altered gene in skin cells,

an altered gene in udder cells.)

E(peTereupMIET LITLDLIGHT Grmis SiOTSS Tel ?
ur®, <iedlor Gomi, afGom9leslum)

(TSI, L6er G
t a hereditary disease ?

Which one of the following is no

(Thalassemia, Down’s syndrome, Alzheimer’s disease, Haemophilia)

3. ganbheul- pudzuasc’rr GrerTLIenaY :

L&6T, QWSS ;brILbl_{a;e'rr, &eoLIL| BFLDL|SET, @mm@Mn@ QerresiiLy

( o euTiT&S) BILD
GenenTHS! GraTenay)

Spinal nerves are _______

motor nerves, mixed nerves, innervating the brain)

(Sensory nerves,

24,5 LIIENS!.

4.  smaypo e, G
(Sang, safl, HH2TET, Quflsmiriy)
During post fertilization, the ovule changes into a/an

(seed, fruit, endosperm, pericarp)
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ordls o areladr  upseerl Lwearu@Bs miFsmss HP&EDE).
(Qaut_@id upser, GamarL LDSET, (D6 el eIl LH&eT, 196 sepLeumiiu
LIH&ET)

Carnivorous animals use teeth to tear flesh.

(incisors, canines, premolars, molars)

Lshgrarhseie sramuu@L ‘e ey o HuGHS QsmfiheTeravser
oramr oP&HELILHSDS-
(enwol_GLmaememmgfw, LsEsENED, ararGLrlents aama, 2 L&)

of green plants are called ‘factories of food production’.

(Mitochondria, Chloroplasts, Endoplasmic Reticulum, Nucleus)

QuIEESTEDS HamHLGEE]LD.
(209 HOSADTED, LIEDE leFa, > 1M e, QuLGrredlwibd)

Find the odd one out.

(bio-alcohol, green diesel, bio-ethers, petroleum)

9fers Hevaan + Yflms sa &b =
(o_aenind SEIEWD, FlDlDd ST, QSMRIGD, SAMEGSD)
Dispersed medium + Dispersion medium=

(True Solution, Colloidal Solution, Suspension, All)
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10.

11.

12,
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4
Mévautt wnm’ Gyt Do f 2 5 ’ ’ :
Loy wpms Cumigung sCemmeny(y £75 saysismes sa550
GLang - iPugay o Ao sbimss
=l WIN55 Slan 5505

(Gavdtrenen, (bEnsetr, Kouny, oy
[

When aqueous solution of Silver Nitrate and Sodium Chloride are mixed,
precipitate is immediately formed,

(white, yellow, red, blue)

e BlaEnppD Celwl uweauBEps.

(eumirinlmibLy, 6ree@, GCaellmwy, Hése o.’.@)
is used in making electromagnets.

(Pig, iron, Steel, Wrought iron, Nickel steel)

& GLreangeflen eflemenCewe AzmEs.
' %

(—OH, —CHO, >C=0, —COOH)
is the functional group of ketones.

(—OH, —CHO, >C=0, —COOH)

@it gofl AaT® ety G-

(365.25 X 24 X 60 X 60 X 3 X 10° 15, 60x 60X 3% 10818, 1X24x60%60x3x10% 5,

360 X 24 X 60 X 60 X 3 X 108 15)
One light year is equal to

8
(365.25x24x60><60x3x108m, 60 X 60X 3X10%m, 1X24Xx60X60X3X10°m,

360 X 24 X 60 X 60 X 3 X 10%m)
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‘G’ -@eén erT AL :

11 2 - -
(6.673x107" Nm’kg™2, 6.673X10-11 Nm2kg-2, 6.673x10!! Nm~2kg~2,
6.673 X 10~ 11 Nm2Zkg?)

The value of ‘G’ is :

(6.673 X101 Nm?kg~?, 6.673X10°11 Nm2%g-2 6,673 x10'1 Nm~2kg~2,
6.673 x 10~ 11 Nm2kg?)

@ sphle 10 V Waranpss Coaumur@erer @m erefls@sédearGu 2 C

Hengr Lgens psiss Gawiulie Ceuama wirg) ?

(57,20],02],2])

How much work is done in moving a charge of 2 C across two points having a potential
difference 10 V 7

(5J,20],02],2])

some Uy WertCearmiL gdlen g‘,]_an&emm rHHlLLEED &mHaed

erariL(hLd.
(Goumebl_ 18T, b L, Seng wrpdl, Wlem wrpl)

A device that reverses the direction of flow of current through a circuit is called

(Voltmeter, Ammeter, Commutator, Transformer)

[ muys / Turn over
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Sfley - II / SECTION - II
(LHLQuTSET : 40) / (Marks : 40)
GOty : eremeuGuenid @mug alamssensg foLwaflssa. 20x2=40

Note : Answer any twenty questions.

16. 21L& epaé Cewser erdladmbs QuDILIGS e,

Name the sources of somatic stem cells.

17. m®rem Wi eremd Sevri_hls.
(i) Bren, UTOWKE QFdelar o | smellenar, Si@TLsHlen s CLmeTTesSd
Gerssiul (B e eueriliy smulear sgele uwliilLsrd GpbEge.
i) sOUYSF eremayd Qerp@prier 2 (heursdl $HLILE CETaTemssmar
Qeueflud _(HerGermer.

Find out who am L.
(i) Iwasborn when the diploid nucleus of the udder cells injected into the cytoplasm
of the enucleated ovum and implanted into the uterus of the surrogate mother.

(i) I coined the term vaccine and vaccination for protective inoculation.

18. Gamgl L @)L kiseer HlrliLs.
@) 2uiflg Asmhle muelwe epaob sumildsin’e sGULS &g
TEITE g6 Ppgeler LweTUHSSILILL ).
i euwflg Qsreon’u wpanpude Qupiiu@w __ Quiafaflwey
@rssGsreans Crrenwid Gearrorssl! LweLh&mg).
Fill in the blanké :

(i) The first vaccine which is produced by Biotechnology was used against

(i) Biotechnologically synthesized is used to cure pernicious anaemia.
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wGoflwr Gpruder il@dlser wramas 2

What are the symptoms of malaria ?

srrGuryr @eur-N@mulan eremmréd eremer 7 G THHMGW Ueanls@hLen

Q@ rrenLwig ?
What is Corpora quadrigemina ? Name the functions associated with it.

Qarssiu(Herer UM UMThE UNshEmeTs @Héae.

Draw the given diagram and label the parts.

CarenLs srasdad ifsors elwuirsAng.

2 & men B Hlwiemel  eped
QeauafCuppliu@eusred Snpreb GODHS
eeray Anfer QeuelGuOmEDS.

(<21) (A) wHmd (R) @ram@id #f. (R) a8l (A) - HesEHng).
rar@w #f. e (R} (A) - afaréselleena.

o_cwsTeming H(HSG (A)

snyewTd (R)

(<) (A) oD (R) &)
(@) (A) L ®Cw &fl; amme (R) s
() (A) seumi; @me (R) &fl.

at more.
Assertion (A In summer, we SWe . , :
R (R)( ) : The kidneys expel less urine, since much of water is lost In the
eason :

form of sweat.
(a) Both (A) and (R) are true and (R) ex _
(b) Both (A) and (R) are true but (R) doesn't explain (4).
(c) (A)is true but (R) is false.
(d) (A) is false but (R) is true.

plains (A).

[ Hmuus / Turn over
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23. & AP . i p ;
915'3'535@661 [fﬁm @@JL_@g, (g,if:fT,fl"),U)l;J LILLb QU unwf,m;@mmé'ﬁ @rﬁma;mu),

Draw the L.S. of kidney and label the parts

24. U : : i ;i
TEnEEUGTE (ELpadleh UMD @ 1 gt B pirar g,&mmmuuéﬁﬁ‘ﬂé) (BTeie 6neord;

GINTETGY:S

Me . c . .
nton any four adaptations seen in the Camel so that it can live successfully in deserts.

25. e Qsd 2 WAsald &FHGmmr_ LeTL@FEDE 26mBHeU (P e
QurmBsTg ?

Why diffusion process is not suitable for transportation in multicellular organisms ?

26. L Gavenllsar eremmmred eraan ? QrevH TOSHESTL_HSET (M.

What are Saprophytes ? Give two examples.

27. &G QEr@ésiul_(erer oar Pep&GeTTH), eumber iy 2 MILSemeTs
8565 T(HSSIEST L6 QUTHSSs.

SOEMTL| 261 | (1penm | enw&ECaranyar Courser SV L
QL (Hanrentlaer L&emnawid CorGemm Gy
DL (& evoremflaem ammen GLmilw mIgeT an v ach

Match the methods of nutrition of special organs with suitap]e examples

Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyu Monotropa
Saprophytes Haustoria mbiscus

QB365 - Question Bank Software




28.

29.

30.

31.

32.

QB365 - Question Bank Software

1630

g@éﬂ-m &Gmﬂ' . .
a|§ grfledlenwil) Lilgd niILMG
. J . '
DT MG, 581 POPUILIRSS, Sipenar HDDD Grflrs
waGufl - @medl - swbuellyss — umHS.
Stud .
y the food chain below, correct it and convert it into a pyramid of energy.

Mulberry — Sparrow — Caterpillar — Kite.

‘eanl_Tmer @b He WIHY rAQuIHEsssTar QfluTss smsLUbBeugl

ereot ?
Why “Hydrogen” is considered to be the best choice among all the alternative fuel

options ?

e, @sman Lafls

@uers euerd craTugl @if GUuDes
@aﬂmné} 18 ot () LD

Spoul [uo
Hen g6l He Causors Qupas fs

51 & T e 6 Cous
&@mrrésaseum.b.

GLoh&HeuTL sapapll LSS, sALTEIST SADDF SUPTEBT crenuens oM

s Q@mHST gflwren Gapdlaand sans.
arce is a natural resource. It can be replaced by natural process

than its rate of consumption by humans.

Qs H6

A non—renewable reso
qual to or faster

t and say whether it is correc

at arate €
t or incorrect. If itis incorrect, give the

Read this statemen
correct statement.

» ser 08 sle Beoy ereuem) SamBHLD LweTu@sgleliaer ?

; ?
use the waste water in your houses !

How will you 1€
9@ rerefiwe QuissD Gremmme ereme ?

What is called Brownian movement ?

[ Sl / Turn over
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34.

35.

36.
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Gamg . @ biman e IATNTNT
ameuGlunmer  wen ey 6T (D gt T ()
RALRITIES L|6m
1 = Al )

b ot S 6n,
Fill in the blanks :
Solute Solvent Examploe
Solid Smoke
I Solid Cork

Wleraumd sppisatled seuenmd SO DbG HmHsis.

) 2xX@uy pasaam Blep =yl DI

(i) ST.P. - g eumujeer Guomeomi Lgmwer 22.4 Qa8
ldentify and correct the mistake if any :

() 2XRM.M.=V.D.

(i)  The molar volume of gas at STP is 22.4 em?,

R sarFle mangrréman® Swellier Gsdley 1.0x10-8 M eraflc, 9| HEN
pH w&lli eremer ?
The hydroxide ion concentration of a solution is 1.0x10~8 M. What is the pH of the

solution ?

SssTamib clenand(@her erg HeLOUDTE ? STTERTD Foms.

(i) FeSOy+Mg — MgSO, +Fe

(ii) ZnSO4+Cu — CuSO4+Zn

Which of the following reactions does not take place ? State the reason.
(i) FeSO,+Mg — MgSO, +Fe

(i) ZnSO4+Cu — CuSO,+Zn
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el o Corsd s . i . 5
IRHBIETL - e Swrwd - soman - airgridu o ume s gl & e

LI ME DI o e ST G001 1615 6O 6T ;s nDELD

"‘ Gy » [ 4 atreral in
Fo design the body of an aircraft, aluminium alloys are used, Give reasons,

Qar@adsiud. Harer UL $e0S QUETIHSEI LIS senard: GOEHHAD.

Draw the given diagram and label the parts,

P
.

o

2 MFLbHSHe0 : siflos Caioiisaild o arer WenariseT ssLbemeanTLiLid
seteno ClSmeaL_eme. '
60 Uearlurers oiemieleeTer 6T ed Ly menser
LBEl Heugme q@u@aﬁ]mg\].

CarHésuulHierer srrad 2-nFuUBSsusHEU CUrgiorasts o arersT ?
Chemical bonds in organic compounds are covalent in nature.
Covalent bond is formed by the sharing of electrons in the bonding

STIFEVOTLD :

Assertion :

Reason
atoms.

Does the reason satisfy the assertion ?

spdrmuer - 1 AL sCarH Qgrimyerw fo Hnuemiseiar Quwisd G
QarhssLL(ReTatar. g ame o QuLisET AMaGWTE Gsr_niduorsma.
QgrLmnfders Hneuamseflen Quursmarl UL gl (Hs.

(ISRO, BARC, NASA, ESA, WHO, ONGC)
List out the names of the organisatioﬁs which are not associated with Chandrayaan - 1

mission from the following :
(ISRO, BARC, NASA, ESA, WHO, ONGC)

[ Slpliys / Turn over
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41.

42.

43.

44.

45.

46.
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B® sas aursamusdr, oGy HersGauss o QuIkISS G]asrrafmq-@aﬁ'wﬂ)fm-
uUTsTEME HNSSUsHE s clans CaeeuiLBEDS ?
Two similar trucks are moving with the same velocity on a road. One of them is loaded

while the other is empty. Which of the two will require a larger force to stop 1t ?
R Wlenaflaté@ 240 V Blaraflupdlyer GeanamréasliuBeTars!- 1Bl erGeonrl_L LD
0.65 A erafle, e eSlensdlen Hmewr wrg ?

An electric bulb is connected to a 240 V generator. The current is 0.65 A. What is the
power of the bulb ? '

STOOTOHOE LIWIGTUTL Iq 60T GUFLDLSET Wmenel ?

What are the limitations in harnessing wind energy ?

LSS AB (penans@héE @eLCw edrer Hsm@uwen WeigemL WwHlLenLs

SIS,

Find the effective resistance between A and B in the given circuit,

20) 20)
— MW 9 YW
10 10

Qeanélen Spar GuUEnTILDI. SiSe DODES TS,

Define Power of lens. Give its unit.

AC Benaflupflenw DC WlerafiupHlurs Taleur wrhmemy

How can an AC generator be converted into a DC generator ?
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47. aDMn) (A) : WPULILL_ 1D DI & 6t lﬁg] Gﬁ]@m Qeuar@armefluld e
DlLmdlyarer uaGoumy cuaramisman Gfmswuamws
Qe pg).
&Syewin (R) . Qo gafl erdQrrafCinenre THUO DG

(1) (A) ppD (R) o, (A) -6@ sMunar eferssind (R).
(<2b) (A) HmID (R) &, (A)-G@ (R) sflurer efarésd 0.
(@) (A) paum (R) &,

() (A) wpmid (R) @ravGo eug.

Assertion (A) When white light is allowed to pass through a prism, it splits

into seven colours.
Reason (R) : This is due to reflection of light.
(a) Both (A) and (R) are correct and (R) explains (A).
(b) Both \(A) and (R) are correct but (R) does not explain (A).
(c) (A) is wrong (R) is correct.
(d) Both (A) and (R) are wrong.

19fley - III / SECTION - III
(odiGuamsaT :20) / (Marks : 20)

@iy : () Ge@aur(h LGS HHED RO adarm eIgd HIe(E aﬁlearnés&@é;iaj s
g -
' e waell&sayL.

Ggemauwmen @Lrisafld LLLD TS

(i) |
(i) Answerany four questions by choosing one question from each part.
Note : i
(i) Draw diagrams wherever necessary.
ueS - 1/PART -1
& eNaT&EGS.

8. e sumL@ sTiEEDd GhEs eqlfleu

Explain elaborately about Typhoid fever.

[ HmLys / Turn over
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49.

50.

51.

52,
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HD <2AeDLDGY BILDL et ev g anan eflané@s.
Explain the Peripheral Nervous System.

U@l - I1 / PART - 11

Qmeilsgleas sreury 6Slengullcor eniplienLs aSeuf&EsaLb.
Describe the structure of a dicot seed.

GITE GBI LT EE 6 o I SEn 6T eleufl&gEaLb.

Explain the components of Pond eco-system

LGS - 111/ PART - III

oplGrr Seflefler Clouyg w@HBSTEL LWETLHADS. Q@JLq_g,g,eu 69 60 68T & & T 6B
Fwerm(h.
4 C3H5(NO;); - 12C0,+10 HyO+6 N, +0,
) (&) @ ® (8
(é\{@nﬁmm C=12, H=1, N=14, O=16)
(<) @FFweLimigeD Iﬁ]GbTGU@GUGOTGUjb@GﬁGLDNGb&SGﬂG%T ranaTGeng wng ?
() ep Cpr laflsfler
(i) 2 (HEUTET GUITW| CLPEDSENMIFHET
(<) @ Gomed bl Gym J,]aﬂ&rﬂcuﬂeﬂ@pgj dﬁGIDL&S@LD eurw| Gomesartler

cTGTEw lGEnd Wimg) ?
(@) e Glomed epLGrm HaflsNefler Hlenm wirg) ?

Nitroglycerine is used as an explosive. The equation for ‘the explosive reaction is

4 C3H5(NO3); — 12C0O,+10H,0+6N, +0,-
) ®@ O @© ©
(Atomic maés of C=12, H=1, N=14, O=16):
(a) How many moles does the equation show for
(i)  Nitroglycerine '
(u) Gas molecules produced ?
(b) How many moles of gas molecules are obtained from 1 mole of nijtr oglycerine ?

What is the mass of 1 mole of nitroglycerine ?

(©)
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53. ) TG . : .

54.

(<) @F SDemsafa }
il a1 gpssam Hlevp 54 crafld. OIHEAT APQOEHM QI (H

(@)  What are alkynes ? Give an example

(b)  If the molecular m: i
ass of an alkyne i . .
alkyne is 54, then its molecular formula is

UGS - IV / PART - IV

(<) A 925%1@ 8 Grs'ngJ]' 8o QU"(@L&dT o drarar. Spdaari. @iphawsaiid
Qeauellm QurmLsEhEE @oLCuurar eles TaIITm OTHMID
SioLfpg ?

() A -ar Hleop Qrigrur@n Qureps.
(i) A wpmbd B -5@ @eLGw o drer Agrenca) @ iqLIrED Quimrps.

(i) A wpmd B @rawmget Bleopud Qpligumgd Qurepg.

(=) ‘g’ LHMID ‘G’ -5 Qe Guiwrer QgmiiL| wng) ?

(a) A and B are two objects. What happens to the force between two objects, if :
(i)  the mass of A is doubled.
(ii) the distance between A and B is doubled.

(iii) the masses of both A and B are doubled.

(b) What is the relation between ‘g’ and G’ ?

(1) Garars phsaiicd gafl crfQrraflgsussmen GOUILH 1oyLseT wreal ?
(<) @eSlwmg.&er, aursaniisaflar LEsaTIg® QUIHSSLILIHLD HERTENTIULINE
gear watuREDg ?

(a) Write the sign convention for reflection by spherical mirrors.

(b) Why convex mirrors are used as rear-view mirrors in vehicles ?

-p0o0-
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